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MODELING REPRESENTATION OF DEPENDENCES EFFICIENCY 

OF CLASSIFICATION OF THE LOOSE MATERIAL 
ON THE ROLLER SCREEN FROM CONSTRUCTIVE 

AND TECHNOLOGICAL PARAMETERS 
On the basis of executed before experimental researches the model of dependence of efficiency 

of classification a roller roar from constructive and technological parameters is developed. 
 
"�
��� �����
����9� �%��	����� �� ��9�� %���
��� � L�%���
�
��� �
���-

�9� ��
%%�*��
����� (��������) ���
�9�
�� �9%���( L**�������%�� �� �%-
�������
��� � �����) ����9'�����%��. � �	
%���� 
������ �9������ ��� �%-
%�����
��) �� �%�
�������( �
��%���%�� �������) ���������������%�� L��� 
�
'�� �� �� ������9�, ���%��������9� �
�
������ � %��)%�� ��
%%�*���-
�����) �����) �
%%9. @�� ��������� ���������� ��������%�� 
�
��
��� �
-
'�� � ��������9� �%������ L�%���
�
��� � �
������ ���� �� �
����)'��� %�-
���'��%����
��� [1, 2]. 

#	��9�
� ������
��� ���������� �����
����� �����) �
%%9 � ����%�
��	�� 
�����( ���	����%�� ������� �
���	�9� �
�
������ �
������� ��
%%�*��
���
 
� %��)%�� �����
�
�9�
���) �
%%9 �
 L**�������%�� ��
%%�*��
���, �9�� 
�9������9 L�%��������
���9� �%%�����
��� �
��%���%�� L**�������%�� 
��
%%�*��
��� �� ���
 �
����
 �
��	��� ���
�
 : (��
�.), 	
%���9 ��
1���� 
�
���� 9 (��/���.), ��
���%�� %9��	��� �
����
�
 W (%), %�����
��� �����-
'������ ��
%%
 ������%�� � �%������ �
����
�� � (%), �
���
 ����� �
��
�� d 
(��) � �������) �
������ �
 ������ Q (�/	·�2). 8������
�9 L��� �%%�����
��) 
����%�
����9 � �
���� [2, 3, 4]. 

\���( �
����)'�� �%%�����
��) ������%� ����������� 
�
����	�%��) �
-
��%���%�� L**�������%�� �� �
����� �� ����	�%����9� *
������, �%���9�
-
�%� �
 ����	���9� �
��� L�%��������
�, ��1�) ��^�� �����9� %�%�
��� ����� 
160. $�
�
��� ��
	���) �
�������9� �
�
������ �������� � �
��.1.  

 



 260 

6
����
 1 – $�
�
��� ��
	���) �
�������9� �
�
������ ��
%%�*��
���
 
!
������
��� �
������-

�9� 
�
�
������ 

:, 
��
� 

9, 
��/���. 

W, 
% 

�, %
d, 

�� 
Q, 

�/	·�2 

$�
�
��� ��
	���) 
�
�
������ 

2-28 500-900 0-14 5-70 1-3 0,5-3,0 

 
��� ���������� L�%���������� �
������
�%� ���� �� �
�
������ ��� *��-

%����
��9� ��
	����� ������, 	�� ��������� �9����� ��������
����� ������� 
�
����� �� *
�����9� �����
��� �
 L**�������%�� �����	����. 

�� �������
�
� L�%��������
���9� �%%�����
��) �9� �9������ �
� �
�-
�9), �
� � �����%�����9) �����%%����9) 
�
���. \���( �
����� 
�
���
 �9�� 
����������� �
�
����
 �
��%���%�� L**�������%�� ��
%%�*��
��� %9��	��� 
�
����
�
 �� ������ �� �
�������9� �
�
������. 
����%�����9) �����%%���-
�9) 
�
��� �������� ����	��� %�
��%��	�%��( ������ *�����������
��� �
�-
������ ������
. 

O
��%���%�� L**�������%�� �����	���� � �� ���
 �
����
 ���������
%� �� 
��^��� �9����� L�%��������
���9� �
��9� �� 18 �
��(����). ��%�� �������
-
��� ���
 �����%%����9� ������) �9�
 �����
�
 �
�
����	�%�
� �
��%���%��: 

� = 15,73 + 1,941: – 0,067:2. 
 
C�L**������9 �����%%�� ��
	��9 ��� ������ ��
	���%�� 0,1. A���� ��%�� 

����'�� ��
	���� �%�
��	��) ��%���%��, ��-�
 	��� �������) 
����
���%�� 
<�'��
 �
�� �����) ������� 
����
���%��. 

��
*�	�%�
� �
��%���%�� L**�������%�� �����	���� �� ���
 �
����
 ����-
%�
����
 �
 ��%. 1. A� ��%���
 �����, 	�� L�%����
����� ��
	���� L**�����-
��%�� �����	���� ������
�� ��� ���� �
����
 : = 16º. 

��� �
%	��� �����%%�� �%�
���9� �
�
����9 ������
 *��%����
��%� �
 %��-
��(1�� �������: 9 = 700 ��/���; W = 0 %; � = 50 %; d = 2 ��; Q = 2,5 �/	·�2. 

O
��%���%�� L**�������%�� �����	���� � �� 	
%���9 ��
1���� �
���� ����-
�����
%� �� ��^��� L�%��������
����) �9����� �� 22 �
��(����), � ��%�� ����-
���
��� ���
 �����%%����9� ������) �����
�
 �
�
����	�%�
� �
��%���%��: 

 
� = –25,24 + 0,12039 – 0,00008292. 

 
!
��(�
��%� ����'�� �%�
��	��� �
%%�����, ��-�
 	��� ��L**������9 ���-

��%%�� ���(� �����) ������� ��
	���%��. 
��
*�	�%�� �
��%���%�� L**�������%�� �����	���� �� 	
%���9 ��
1���� �
�-

��� ����%�
����
 �
 ��%. 2. A� ��%���
 �����, 	�� L�%����
����� ��
	���� L**��-
�����%�� �����	���� ������
�� ��� 	
%���� ��
1���� �
���� 9 = 750 ��/���. 

��� �
%	��� �����%%�� �%�
���9� �
�
����9 ������
 *��%����
��%� �
 %��-
��(1�� �������: : = 8º; W = 6 %; � = 50 %; d =  2 ��; Q = 2,5 �/	·�2. 

O
��%���%�� L**�������%�� �����	���� � �� ��
���%�� %9��	��� �
����
-
�
 ���������
%� �� ��^��� L�%��������
����) �9����� �� 21 �
��(�����. A� 
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�����%%����9� ������) �
�����'�� %������%����� ���
�
�� �
�
����	�%�
� 
�
��%���%��:  

 
� = 31,59 + 0,382W – 0,148W2. 

 
O�
	��9� � L��) ������ ������%� ��L**������ �����%%�� ��� ��
��
��	-

��� %�
�
����: ����)��� %�
�
���� – ����
	����. �� �������( <�'��
 ���-
��������
 �9%��
� 
����
���%�� ������ ��� ������ ��
	���%�� 0,05. ��
*�	�-
%�� �
��%���%�� L**�������%�� �����	���� �� ��
���%�� �
����
�
 ����%�
�-
���
 �
 ��%. 3. A� ��%���
 �����, 	�� �� ���� �����	���� ��
���%�� L**�����-
��%�� �����	���� %���
��%�, ���	��, �
	��
� % ��
���%�� W = 6%, L�� �����-
'���� %�
�����%� ��%��
 %�1�%�����9�. 

��� �
%	��� �����%%�� �%�
���9� �
�
����9 ������
 *��%����
��%� �
 %��-
��(1�� �������: : = 8º; 9 = 700 ��/���; � = 50 %; d = 3 ��; Q = 2,5 �/	·�2.  

$�� ����������� �
��%���%�� L**�������%�� �����	���� � �� %�����
��� 
�����'������ ��
%%
 ������%�� � �%������ �
����
�� ��^�� �9����� %�%�
��� 
40 �
��(����), � �� ���������� ���
 �����%%����9� ������)  �9��
�
 �
�
-
����	�%�
� �
��%���%��: 

 
� = 20,993 – 0,084� + 0,000716�2. 

 
A�-�
 ����'��� �
%%����� %�
��%��	�%��� �
��9� ��L**������9 �����%%�� 

���(� �����) ������� ��
	���%��. 
��
*�	�%�� ����	���
� �
��%���%�� ����%�
����
 ��%. 4. ������
��� ���-

��'������ ��
%%
 ������%�� �
������
��%� � ������
� 10…70 %. A� ��%���
 
�����, 	�� �� ���� �����	���� � L**�������%�� %���
��%�, ������
� ��
	���� 
¯ 19  � ��
�
���� � = 40…70 %. 

��� �
%	��� �����%%�� �%�
���9� �
�
����9 ������
 *��%����
��%� �
 %��-
��(1�� �������: : = 14º; W = 2,5 %; 9 = 700 ��/���; d = 2,5 ��; Q = 2,5 �/	·�2. 

&������ �� �
���
 ����� �
��
�� �
 L**�������%�� �����	���� � ������-
����%� �� �
��(������ 10 L�%����������. ��� L��� �
��� �
������
�%� � ��
-
�
���� 1-3 ��, � ����	���
� �
��%���%�� �
������ 
����
��� ���%9�
��%� ��-
��)��) �����%%�����) ������(: 

 
� = 12,6 + 4,2d. 

 
C�L**������9 �����%%�� ���(� �9%���) ������� ��
	���%��; �������) <�-

'��
 ���������
�� ����'�( 
����
���%�� ������ ��� ������ ��
	���%�� 0,05. 
��
*�	�%�� �
��%���%�� L**�������%�� �����	���� �� �
���
 ����� �
��
-

�� ����%�
����
 �
 ��%. 5. A� ��%���
 �����, 	�� �� ���� �����	���� �
���
 
L**�������%�� �
����� �����	��
��%�: �����%� L**�������%�� %�%�
����� 4,2 
������9 �
 �
��9) ��������� �����%�
 �
���
. 

��� �
%	��� ������ �%�
���9� �
�
����9 ������
 *��%����
��%� �
 %��-
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��(1�� �������: : = 14º; W = 2,5 %; 9 = 700 ��/���; � = 50 %; Q = 2,5 �/	·�2. 
�
�
���� �
��%���%�� L**�������%�� �����	���� � �� �������) �
������ 

�
 ������ ���������%� �
 �%���
��� �9����� �� 54 L�%����������. !
�����
 
�
�
�
�
%� � ������
� 1-3 �/	·�2. !
������ 
����
��� ���	
���( �
��%���%�� 
���%9�
�� ����)�
� �����%%����
� ������: 

 
� = 15,21 + 5,023Q. 

 
C�L**������9 �����%%�� ���(� �9%���) ������� ��
	���%��; �������-

����
 �
��� ����'
� 
����
���%�� L��) ������ �� ��������� <�'��
. 
��
*�	�%�� �%%������
� �
��%���%�� ����%�
����
 �
 ��%. 6. A� ��%���
 

�����, 	�� �� ���� �����	���� �
������ �
 ������ � �
�
���� ��
�
���� ��
	�-
��) L**�������%�� �����	���� �
����� ����
%�
��. 

��� �
%	��� ������ �%�
���9� �
�
����9 ������
 *��%����
��%� �
 %��-
��(1�� ��
	�����: : = 14º; W = 2,5 %; 9 = 700 ��/���; � = 50 %; d = 2 ��.. 

&9�������9) ��^�� �%%�����
��) ��������� ����	��� ����1����( ������ 
�
��%���%�� L**�������%�� �����	���� �� ���%��������9� � ���������	�%��� 
�
�
������ ������
, ��%������ ������ �
�
� ������ ����� �
�� ������
����( 
������ �
���9 �
'��9 � ��������� ������
�� �
����
���9� �� �
�
����9 ��� 
����������
��� ��� 
�
��
��� � ��������9� �%������ L�%���
�
���. E%���9-
�
�%� �
 ��^�������9� %�
��%��	�%��� �
��9� ��� 
�
���
, �9�
 ����	��
 
����1���
� �
�
����	�%�
� ������ ���
:  

 
� = a0 + �1�1 + … + �mxm + b1x2

1 + … + bmx2
m + c1x1x2 + c2x1x3 + … + ckxm-1xm. 

 
& ������ & – �������
����9) �����
� (L**�������%�� �����	����); �� – �-) 

*
�����9) �����
� (�
�
����9 ������
). 6
��� ���
���, ������ %������� ��-
��)�9� %�
�
��9� (��L**������9 �����%%�� ��), ��
��
��	�%��� %�
�
��9� (��-
L**������9 �����%%�� b�) � �%� �
��9� ������������ *
������ (��L**������9 
�����%%�� ��); m – 	�%�� *
�����9� �����
��� (m = 6). ;9� �������� 
�
��� ��-
L**�������� �����%%�� �
 ��
	���%�� �� �������( ���(����
. & �������
�� 
�9�� �%�
�������, 	�� �%� ��L**������9 �� – ����
	��9�; ����
	��9 �
� �� 
��L**������9  �1 � b3…b6. �������%���(1�� %�
�
��9� �9�� �%��(	��9 �� 
������, � � �������
�� ���������� �
%	��
 �9�
 ����	��
 �
�
� �����%%����
� 
������: 

 
� = 0,2639 – 1,012W + 0,071� + 1,119d + 2,374Q + 0,0073:2 – 0,0001892. 
 
��� %������� %�����9 �1 = 8, �2 = 152 �
%	���
� %�
��%���
 <�'��
 %�%�
���
 

F� = 4,53, 	�� ����'� �����	�%���� ��
	���� ��� ������ ��
	���%�� 0,05. 6
��� 
���
���, ����	���
� ������ �
��%���%�� L**�������%�� �����	���� �� ���%�-
�������9� � ���������	�%��� �
�
������ ����� �9�� �����
�
 
����
���). 

& �
��. 2 ��������9 �
��9� � ��L**������
� �
�����%�� ��L**�������� 
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��
������ �����%%��. 
 

6
����
 2 – C�L**������9 �
�����%�� � ��
������ �����%%�� 
E����
	���� 

��L**������
 
�����%%�� 

�2(9) �3(W) �4(�) �5(d) 
6(Q) b1(Á
2) b21(Â

2) 

O�
	���� 0,263 -1,012 -0,071 1,119 2,374 0,0073 -0,00018 
t���>. 2,34 4,38 1,21 1,33 2,70 1,1 2,23 

 
6
��� ���
���, �� ����������) ������ ����� ����	��� ��*���
��( � ��� 

��
	����� �
�
������, ��� �����9� L**�������%�� �����	���� ������
�� L�%-
����
����� ��
	����: 

– �� ���� �
����
: % �����	����� ���
 �
����
 � �������� ��
�
���� L*-
*�������%�� �����	��
��%�; �
�����'�) L**��� ��%���
��%� ��� : = 8-12Ã, 
 
��� �
����)'�� �����	���� – ���
�
���� ����'
(�%�; 

– �� 	
%���� ��
1���� �
����: L�%����
����� ��
	���� ��%���
��%� ��� ��
-
	����: 

2

2

0,263
655

2 0,00036
� � �

a
b

� , ��/���.; 

 
– �� ��
���%�� %9��	��� �
����
�
: L**�������%�� ��� �9'�, 	�� ���� 

��
���%��; 
– �� %�����
��( �����'������ ��
%%
 ������%�� (�) � �%������ �
����
��: 

% �����	����� � L**�������%�� %���
��%� �� ������������� ������
 (� = 
50 %), ��%�� �������� ������� ����
	�������; 

– �� �
���� ����� �
��
��: % �����	����� �
���
 L**�������%�� �
%���; 
– �� �������) �
������ �
 ������: ��%� �������) �
������ �������� � �����-

	���( L**�������%�� �����	���� � ������
� L�%��������
 �� ����)���� �
����. 
!
 ������
�����9� �
����9� ������
� L**�������%�� ��%���
�� 90–95 %. 

������� ��������, 	�� ����%������� ����
� L**�������%�� �����	����, ��-
��	���
� � L�%��������
� �9��
�
 �
�9� ����	�%���� �
���� �
 �
���
�����) 
�%�
����� (4-6 '���). � �����	����� ����	�%��
 �
���� �� 15-20 L**�����-
��%�� ����� �9�� ����	��
 �
�%��
���
�. 

8������
�9 �9�������9� �%%�����
��) ����� %������ �%����) ��� �9���
 
���%��������9� � ���������	�%��� �
�
������ �
������� ������
 �
� �
 %�
-
��� ����������
���, �
� � �
 %�
��� ����9'�����) L�%���
�
���. 
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ABOUT MECHANISM OF THE GENERATIONS THE METHANE 
IN COAL LAYER IN PROCESS THE MOUNTAIN WORKS 

They Are Considered physical-chemical bases of the modern forming the coal methane as a re-
sult technogenic influences of the mountain work on coal-rock massive 

 
A%%�����
��� �
����%��%�� ������9� ��%���������) ��������� �%�
��-

����, 	�� �
�9 � ������������ �
%%��� ���
���
��%� � �������
�� �����%%�� 
���
���*���
 ����) � �
%%����9� ����%�9� ���(	���) �� ���1
(1�� ����-
�
�. ����� L��� �
��� ������
�
�� ���
� (�� 60 �� 95 %). ;���'��%��� �%%��-
���
����) %	��
(�, 	�� ���
� � ���� �
�����%� � %��������, %�������
����, 
�
%��������� � �
�� ������� %�%������� [1].  

E��
�� �������9� �	��9� %	��
(�, 	�� ���
� � ��
	�������) ���� ���
��-
��%� �
��� � �����%%� ����9� �
��� � �������� ��
%�� ����� *�����-
����	�%��� ��
���) �������
 % ��������� ��� �������� �����
%���������� 
�
���������� %�%������, ������� �������� � ��%������� ����. & �
	�%��� 
�-
�������� �������� �
���	���� ���
 �
%	��9 � *
��9 �� ��
����� ������� ���
. 

6
�, �
������: @������� A.B. ������
� ��^M�9 �9�����'���%� �!4 ��� 
�9���%
� ���� � ����	�� �
��� ��� ��^��9, �����9� �� %����� �9 �
�� �����-
��	�%�� �
�����%� � �������� ��
%�� ��� �
�%��
���9� ��� %��������9� �
-
�
����
�; ������
���
��� ���
�
 � ������� %�%������ ������� ������9� L���-
����	�%��� �
��
�, � �����9� ��� %������) �� �%����� ���
���
��� ������9� 
��%���������); �
���
����9� ��9�9 �� ���
�
��� ���� ��� �
������ %����-
����%���(� � ��%������) �����
��� ���
�
; ��L**������ ��1�) ����%��%�� � 
���� ���9� ���� – 
���
���9 ��������%� �� �
�
���� �� 12 �� 7 %, % ������-
��� 4 % �
 %�
��� ���%�(1��%� ����) � �.�. [1, 2]. ���������9� 
�������9 
��
�9�
(� �
 ��, 	�� � ��^��
� �9�����'���%� �
�
 �� ���� (�%������ � %��	
� 
���������� �
�����
��	�%��� ������)) �	������ ��
	������
� ���� ����
���-


